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Eighth Semester B.E. Degree Examination, Jan./Feb.2021
Operations Management

Time: 3 hrs. Max. Marks:100
Note: Answer any FIVE.full questtons, selecting at least TWO questions.f rom each parl
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I l. I)ctjnc opcration lrlalrascn.lcnt. Lrxplain thc classif ication o['prccluction svstcur.
b. De,llne productivill-. l)iscr.rss thc factors al'fccting producti\ it\'

[:.xplain the [)ecision makinq proccss
Discr"rss thc charactcristics of operatious clecision u,'ith e xaurplcs.

tl.

b.

a. Shipnrcnts (in tcins) of tr"rbe an alunrirr

b

a

b

Table Q3(a)
i) Graph the clata. ancl cotnmcnt on thc relationship
ii) Conrputc a 3--r'car s nrovirr-r: avcrilgc. plot it as a clottecl line. ancl rrsc il io lirrccast

shipments in ycar I 2.

iii) Using a rvcight o{'3 lor the most recent clata.2 tbr thc next. irnil 1 lirr thc oldcsi.
fbrccast shiprnent in year 12. (l0ltarlis)

Irrplain thc stcps in fbrccasting proccss. (l0llarlts)

DistirrgLrish betr,vccn clc'sign cairacity and systcnr capacitl,. (06llarks)
A nrctal processing firm wishes to install enough iiutonurtic moltlcrs to procir.icc 2.-50.0()0
goori casting per ycars. Thc molding opcration takcs 1.5 nrinutcs per castine. bLrl its ()utpLrt j\
lrpicall-v itboLrt -i pcrccnt dclecttvc. llow nrattl, nrolders ivill be rccluircrl il' cach onc is

ar rilablc fbr' 2.000 houls (ofcapacity) per 1'car'l 106 llarks)
l-.rplain thc generalizccl proccdLrre 1br rr-rakiug a location clecision. (0tt .\tarks)

PAR'I'- I]
\\'hat do yor,l lllciln by'aggrcgatc planning'l List and cxplain ralioLrs l)Lllc \tr,rtegic5.

(l() llarks)
What do you rneafl b1- Master Prodr-rction ScheclLrlc'l What are tlic stcps involr,ccl in nuslcr
schcdLrling process'/ lrxplain. (10 \larlis)

What are the reasorrs I'or holding inventory'l flxplain. (0t] \larks)
What arc thc assumptiorrs underlying thc basic EOQ rrrodcl'l Mention thcnr (0;l llarks)
A corrpany requires 16,000 units of rarv rnatcrial costing li.s 2 pcr unit.'l'hc cosl oi'placine
an urrlcr is Rs,15 and tlrc carrying L'osts are 109.{r per year per unit o1'thc avcrag,c iuvcutory.
Dctenlinc :

i) the cconornic orclcr quantity
ii) cycle time
iii) total variablc cost of managing thc invr'ntor1. (t)tt \lrrhs)

t:rplain MRP systcm lnpLrts anci outpLrts. (10 tlarlis)
What are the potential bcneflts fiom MRP'/ Iixplain (10 llarks)

Ilxplain thc suppll, chain activities in bricf. (10 l\Iarks)

l)iscr-rss the variur,rs rcilsons fbr the nrakc - or - buy dccisions. (10 )larti.s)
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Note: l.Answer any FIVE Jull questions, selecting at least TWO questions.from euch part.
2. tl:lissirr14 duta, i/'un-y11 tn{tt1 he suituhllt ossruncd.

PAR'T - A

l)i1'lcrcrrtiatc opcn krop control systerl and ckrscd lurrp control sl,stcttt rvilh rn crantplc.
(07 I'l arlis)

\\'liitt is cot"rtlol actiorr'l Explain anvonc olils tvpc r,,'itlr arr crarnplc. (07 \'lnrks)
What arc thc rcclrrire:nrcnts clf an ideal control syslcu"t'/ l:xplain. {()(r \larks)

()ltlain thc translcr {unction nror-lcl o1'an A(- nrotors in control s},.stLrnr. (07 \lalks)
[;inii thc transl-cr lirnc1ion oIa nrcchanical s-vstenr shorvn in Fig.Q2(b) constrirclrng li'cc 1,roci1'
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[;ig.Q2(b)
Obtain thc' nrathcnratical nrodcling of a first order pncurnatic syste rr.

.1 a. l'rnr1 tirc translcr lirnctir-rn ol a block diagranr in tlrc F ig.Q3(a)

C

R
C-

tr. [Jsrng N4ason's gain
in Irig.Q3(b).

Irig.Q3(a) (ott llarhs)
firrntrla llnd the overall transfer ftlnction o{'a signal llorv graph sltou'u

hke

4t

Fig.Q3(b)
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(()6 \l arlis)

(l-l \larks)

(t)5 llart<s)

(15 lilarlis)

(t)S }llrks)

( I 5 \larks)
k(s ttX.1:])
(sr0.1)(s-lt

f,*

4 a. Irrpltirr hc clr{J'crent t,vpcs o{'in1;uts. (05 }larli.s)
b. Dctclnriuc thc stability cll'thc si,slcm lbrthe lollori,ing ecluation Lrsins Il il crrtcril.

s(' 2s: ' Ssr .t" l2sr + 20s2 r l6s I l(r:0. (07 \tarks)
c. 'l'hc rttcaslu'cllcrnt condrrctcr-l on a scrvosystLrrn, r,r'hicir shor.l s thc syslcur rcspollsc ils

('(t) ,- I ' 0.1-5e 50r - 1.2-ie 1t" u,hen sub-iec:ted to a unit ste;l rnprrl. ()btain thc closccl loolr

translcl lLrncf iitn also llnd trrcl ancl 1,. (()tt \'lart.s)

: tt

b

I)r'riii rlre nt,lrrr nhrr lhr' ( its 1 - l::ll
Drart,tlrc Nl,clrtist plot anti analysc thc stability of G1s)= --- I --

:t I - {). ls;11 - tt 3t1

PART - B

\\'irat is [Jo11c uttcnualion diagraur'/ Explain.

Drau,' thc 13odc rnagnitr.rcle and phase angle plot for G(s) =

['-incl PN,l. (iNl and K values.

l.ist thc gcncrir irulcs iirr conslrLrcting root loci.

Skctch tlre rool locus lbr thc Ibllorving Ol-l-F ()1s1 =

ri a

b
ts + 0.1) _

s(s+0.01)(s+2)(s r l0)

b

8 a, \\'ith a ircrtt slictch erplarn serres ancl f'eedback.5ystenr u,ith ln erlrnples. (lt) \llrks)
h. Irot'ilrc svstdnr shou,t.t in Ir'ig.Q8(b). r,i'r'rte thc diffbrcntiul cclurtrorrs lbr tirc nrirss r.r.r irnrl

ohtair.r 1hc nlrtrix leprescntalion ol state eq,,rations.
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Eighth Semester

Time: 3 hrs

Notez l.Answer uny FIVE fuA
2.Use of Data hand book

L a. List out the Properties of Oil? Explain
b. Derive an Expression Poiseuille Law

2 Derive an express 's 2D equation wi

3 a. Derive an for Load carrying
b. Explain of Formation

Torque and Co-efficient on the shaft?
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(10 Marks)
(10 Marks)

(20 Marks)

(10 Marks)

(10 Marks)
(10 Marks)

?

capacity of a Idealized Joumai bearing. (12 Marks)
of continuous oil fiIm in a full Joumal bearing.

(08 Marks)

4

5

6

7 a. List out the properties of
b. What are the advantages ,

8 a. List out the characteristic

bearing material? Explain any two
and disadvantages of bearing materials?

s taken into account for bearing selection. Explain any two.
(10 Marks)

b. Explain ways to reduce friction in addition to Lubricants to improve tribological
?

{<**)&*

(10 Marks)

\

b.2021

10M8831

Max. Marks:100

a. Static step bearing. (10 Marks)
b.

Diameter of the pocket
Verlical thrust on
Extemal Pressure

:45000N
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E 8 a' Explain with diagram positive crank case ventiration system.b' Exptain with diagra, ihe exhaust gas;;;iliil;';.rr"c. Explain in brief about cataly,tic convefior.

(07 Marks)
(07 Marks)
(06 Marks)
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Eighth

Time: 3 hrs.
Note: Answer any FrvE lull questiorts, selecting at least TWo questionsfrnY::n:i:

PART _ A
7 a' what are the functions of comprer.ion ,,rd oilontrol rings in piston? (04 N{arr<s)b' Explain with neat diagrarn any two ,yp.r ,r.".u;;;;, chambers used in c.I. Engines.

(08 N{arks)c. Explairr wirh diagrarn the workine of
i) wax type therr,ostat valve and ii) Bellow type thermostat valve used cooling systcm.
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